

Summary of Bids Received

Project: Old McHenry Road Resurfacing

CPMS Pin:

B-01673

Section: 23-00999-95-RS

Description:

Let Date: March 11, 2025

The intersection of Old McHenry Road at Corporate Drive will be expanded; Old McHenry Road will be resurfaced and widened with full depth HMA binder. This work will also include combination concrete curb

and gutter, pipe culverts, heavy cleaning of existing culverts, culvert lining, and all necessary restoration.

Old McHenry Road will be resurfaced with reconstructed HMA shoulders, aggregate shoulders, ditch

grading, rumble strip installation, and all necessary restoration.

				% Over/Under	\$ Over/Under
Bidder	Address	City, State, Zip	Bid Price	Eng. Estimate	Eng. Estimate
Peter Baker & Son Company	1349 Rockland Road	Lake Bluff, IL, 60044	\$4,261,174.83	-12.64%	-\$616,472.97
Builders Paving, LLC	4401 Roosevelt Road	Hillside, IL, 60162	\$5,113,808.00	4.84%	\$236,160.20
		Engineer's Estimate:	\$4,877,647.80		



Return Bid Tabulation

 Project:
 Old McHenry Road Resurfacing
 CPMS Pin:
 B-01673

 Section:
 23-00999-95-RS
 Let Date:
 March 11, 2025

The intersection of Old McHenry Road at Corporate Drive will be expanded; Old McHenry Road will be resurfaced and widened with full depth HMA binder. This work will also include combination concrete curb and gutter, pipe culverts, heavy cleaning of existing culverts, culvert lining, and all necessary restoration. Old McHenry Road will be resurfaced with reconstructed HMA shoulders,

aggregate shoulders, ditch grading, rumble strip installation, and all necessary restoration.

Item No.	Pay Code	Description	Quantity	Unit	Eng Unit Price		Peter Baker 8	k Son Company	Builders	Paving, LLC	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	
1	20101100	TREE TRUNK PROTECTION	38.0	EACH	\$125.00	\$4,750.00	\$125.00	\$4,750.00	\$125.00	\$4,750.00	
2	20101200	TREE ROOT PRUNING	38.0	EACH	\$100.00	\$3,800.00	\$90.00	\$3,420.00	\$90.00	\$3,420.00	
3	20101300	TREE PRUNING (1 TO 10 INCH DIAMETER)	18.0	EACH	\$60.00	\$1,080.00	\$70.00	\$1,260.00	\$70.00	\$1,260.00	
4	20101350	TREE PRUNING (OVER 10 INCH DIAMETER)	20.0	EACH	\$100.00	\$2,000.00	\$200.00	\$4,000.00	\$200.00	\$4,000.00	
5	20200100	EARTH EXCAVATION	1,839.0	CU YD	\$44.00	\$80,916.00	\$85.00	\$156,315.00	\$53.00	\$97,467.00	
6	20201200	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	3,586.0	CU YD	\$44.00	\$157,784.00	\$0.01	\$35.86	\$53.00	\$190,058.00	
7	20400800	FURNISHED EXCAVATION	690.0	CU YD	\$50.00	\$34,500.00	\$40.00	\$27,600.00	\$0.01	\$6.90	
8	20800150	TRENCH BACKFILL	400.0	CU YD	\$60.00	\$24,000.00	\$99.00	\$39,600.00	\$50.00	\$20,000.00	
9	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	2,882.0	SQ YD	\$3.00	\$8,646.00	\$3.60	\$10,375.20	\$3.00	\$8,646.00	
10	21101600	TOPSOIL FURNISH AND PLACE, VARIABLE DEPTH	7,788.0	SQ YD	\$6.00	\$46,728.00	\$4.00	\$31,152.00	\$4.00	\$31,152.00	
11	21101615	TOPSOIL FURNISH AND PLACE, 4"	11,614.0	SQ YD	\$5.00	\$58,070.00	\$4.00	\$46,456.00	\$4.00	\$46,456.00	
12	21301052	EXPLORATION TRENCH 52" DEPTH	100.0	FOOT	\$50.00	\$5,000.00	\$98.00	\$9,800.00	\$5.00	\$500.00	
13	25000210	SEEDING, CLASS 2A	2.8	ACRE	\$2,650.00	\$7,287.50	\$3,630.00	\$9,982.50	\$3,630.00	\$9,982.50	
14	25000300	SEEDING, CLASS 3	1.5	ACRE	\$4,000.00	\$6,000.00	\$3,630.00	\$5,445.00	\$3,630.00	\$5,445.00	
15	25000314	SEEDING, CLASS 4B	0.3	ACRE	\$4,500.00	\$1,125.00	\$3,630.00	\$907.50	\$3,630.00	\$907.50	
16	25000400	NITROGEN FERTILIZER NUTRIENT	405.0	POUND	\$3.00	\$1,215.00	\$1.00	\$405.00	\$1.00	\$405.00	
17	25000600	POTASSIUM FERTILIZER NUTRIENT	405.0	POUND	\$3.00	\$1,215.00	\$1.00	\$405.00	\$1.00	\$405.00	
18	25100630	EROSION CONTROL BLANKET	18,651.0	SQ YD	\$2.00	\$37,302.00	\$1.10	\$20,516.10	\$1.10	\$20,516.10	
19	28000250	TEMPORARY EROSION CONTROL SEEDING	401.0	POUND	\$5.00	\$2,005.00	\$0.10	\$40.10	\$0.10	\$40.10	
20	28000305	TEMPORARY DITCH CHECKS	742.0	FOOT	\$10.00	\$7,420.00	\$12.00	\$8,904.00	\$12.00	\$8,904.00	
21	28000400	PERIMETER EROSION BARRIER	300.0	FOOT	\$5.00	\$1,500.00	\$5.00	\$1,500.00	\$5.00	\$1,500.00	
22	28000510	INLET FILTERS	11.0	EACH	\$150.00	\$1,650.00	\$300.00	\$3,300.00	\$275.00	\$3,025.00	
23	28100107	STONE RIPRAP, CLASS A4	107.0	SQ YD	\$200.00	\$21,400.00	\$181.50	\$19,420.50	\$150.00	\$16,050.00	
24	28200200	FILTER FABRIC	221.0	SQ YD	\$3.50	\$773.50	\$3.00	\$663.00	\$5.00	\$1,105.00	
25	30300112	AGGREGATE SUBGRADE IMPROVEMENT 12"	2,317.0	SQ YD	\$25.00	\$57,925.00	\$40.00	\$92,680.00	\$38.50	\$89,204.50	
26	35101800	AGGREGATE BASE COURSE, TYPE B 6"	1,185.0	SQ YD	\$15.00	\$17,775.00	\$9.90	\$11,731.50	\$22.00	\$26,070.00	
27	35102000	AGGREGATE BASE COURSE, TYPE B 8"	500.0	SQ YD	\$15.00	\$7,500.00	\$13.20	\$6,600.00	\$20.00	\$10,000.00	
28	35501314	HOT-MIX ASPHALT BASE COURSE, 7 1/2"	1,827.0	SQ YD	\$40.00	\$73,080.00	\$46.00	\$84,042.00	\$43.00	\$78,561.00	
29	40600275	BITUMINOUS MATERIALS (PRIME COAT)	1,468.0	POUND	\$1.00	\$1,468.00	\$0.01	\$14.68	\$0.90	\$1,321.20	
30	40600290	BITUMINOUS MATERIALS (TACK COAT)	44,986.0	POUND	\$1.00	\$44,986.00	\$0.01	\$449.86	\$0.01	\$449.86	
31	40600370	LONGITUDINAL JOINT SEALANT	57,893.0	FOOT	\$3.00	\$173,679.00	\$3.29	\$190,467.97	\$2.80	\$162,100.40	
32	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	10.0	TON	\$500.00	\$5,000.00	\$75.00	\$750.00	\$650.00	\$6,500.00	
33	40603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	3,033.0	TON	\$120.00	\$363,960.00	\$103.00	\$312,399.00	\$85.00	\$257,805.00	
34	40604060	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	2,820.0	TON	\$100.00	\$282,000.00	\$91.00	\$256,620.00	\$83.00	\$234,060.00	
35	40604062	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N70	4,505.0	TON	\$100.00	\$450,500.00	\$78.00	\$351,390.00	\$82.00	\$369,410.00	
36	42001300	PROTECTIVE COAT	257.0	SQ YD	\$5.00	\$1,285.00	\$1.40	\$359.80	\$10.00	\$2,570.00	
37	44000100	PAVEMENT REMOVAL	987.0	SQ YD	\$20.00	\$19,740.00	\$31.90	\$31,485.30	\$24.00	\$23,688.00	
38	44000155	HOT-MIX ASPHALT SURFACE REMOVAL, 1 1/2"	621.0	SQ YD	\$10.00	\$6,210.00	\$10.65	\$6,613.65	\$8.40	\$5,216.40	
39	44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	56,766.0	SQ YD	\$4.00	\$227,064.00	\$3.40	\$193,004.40	\$4.09	\$232,172.94	
40	44000200	DRIVEWAY PAVEMENT REMOVAL	1,746.0	SQ YD	\$20.00	\$34,920.00	\$12.75	\$22,261.50	\$15.00	\$26,190.00	
41	44000500	COMBINATION CURB AND GUTTER REMOVAL	460.0	FOOT	\$15.00	\$6,900.00	\$11.25	\$5,175.00	\$8.00	\$3,680.00	
42	44201749	CLASS D PATCHES, TYPE I, 9 INCH	8.0	SQ YD	\$70.00	\$560.00	\$35.00	\$280.00	\$150.00	\$1,200.00	
43	44201753	CLASS D PATCHES, TYPE II, 9 INCH	12.0	SQ YD	\$80.00	\$960.00	\$35.00	\$420.00	\$130.00	\$1,560.00	
44	44201757	CLASS D PATCHES, TYPE III, 9 INCH	36.0	SQ YD	\$90.00	\$3,240.00	\$35.00	\$1,260.00	\$115.00	\$4,140.00	
45	44201759	CLASS D PATCHES, TYPE IV, 9 INCH	24.0	SQ YD	\$100.00	\$2,400.00	\$35.00	\$840.00	\$97.00	\$2,328.00	
46	44201798	CLASS D PATCHES, TYPE I, 13 INCH	212.0	SQ YD	\$100.00	\$21,200.00	\$40.00	\$8,480.00	\$152.00	\$32,224.00	
47	44201803	CLASS D PATCHES, TYPE II, 13 INCH	318.0	SQ YD	\$110.00	\$34,980.00	\$40.00	\$12,720.00	\$149.00	\$47,382.00	
48	44201807	CLASS D PATCHES, TYPE III, 13 INCH	954.0	SQ YD	\$120.00	\$114,480.00	\$40.00	\$38,160.00	\$131.00	\$124,974.00	

Item No.	Pay Code	Description	Quantity	Unit	Eng Unit Price		Peter Baker & Son Company		Builders	Paving, LLC	
	•	·			Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	
49	44201809	CLASS D PATCHES, TYPE IV, 13 INCH	636.0	SQ YD	\$130.00	\$82,680.00	\$40.00	\$25,440.00	\$119.00	\$75,684.00	
50	44201895	CLASS D PATCHES, TYPE I, 21 INCH	64.0	SQ YD	\$160.00	\$10,240.00	\$50.00	\$3,200.00	\$262.00	\$16,768.00	
51	44201899	CLASS D PATCHES, TYPE II, 21 INCH	97.0	SQ YD	\$170.00	\$16,490.00	\$50.00	\$4,850.00	\$238.00	\$23,086.00	
52	44201903	CLASS D PATCHES, TYPE III, 21 INCH	290.0	SQ YD	\$180.00	\$52,200.00	\$50.00	\$14,500.00	\$224.00	\$64,960.00	
53	44201905	CLASS D PATCHES, TYPE IV, 21 INCH	193.0	SQ YD	\$190.00	\$36,670.00	\$50.00	\$9,650.00	\$205.00	\$39,565.00	
54	48101200	AGGREGATE SHOULDERS, TYPE B	1,639.0	TON	\$50.00	\$81,950.00	\$59.00	\$96,701.00	\$37.00	\$60,643.00	
55	48203015	HOT-MIX ASPHALT SHOULDERS, 4 1/2"	16,464.0	SQ YD	\$25.00	\$411,600.00	\$21.40	\$352,329.60	\$22.00	\$362,208.00	
56	50105220	PIPE CULVERT REMOVAL	1,084.0	FOOT	\$25.00	\$27,100.00	\$18.00	\$19,512.00	\$27.00	\$29,268.00	
57	54213657	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 12"	4.0	EACH	\$1,250.00	\$5,000.00	\$2,079.00	\$8,316.00	\$2,800.00	\$11,200.00	
58	54213660	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 15"	11.0	EACH	\$1,500.00	\$16,500.00	\$2,132.00	\$23,452.00	\$2,950.00	\$32,450.00	
59	54213669	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 24"	7.0	EACH	\$2,300.00	\$16,100.00	\$4,492.00	\$31,444.00	\$7,150.00	\$50,050.00	
60	54262712	METAL FLARED END SECTIONS 12"	8.0	EACH	\$800.00	\$6,400.00	\$250.00	\$2,000.00	\$855.00	\$6,840.00	
61	54262715	METAL FLARED END SECTIONS 15"	16.0	EACH	\$750.00	\$12,000.00	\$291.00	\$4,656.00	\$915.00	\$14,640.00	
62	542A0217	PIPE CULVERTS, CLASS A, TYPE 1 12"	72.0	FOOT	\$80.00	\$5,760.00	\$102.50	\$7,380.00	\$135.00	\$9,720.00	
63	542A0220	PIPE CULVERTS, CLASS A, TYPE 1 15"	156.0	FOOT	\$90.00	\$14,040.00	\$113.20	\$17,659.20	\$138.00	\$21,528.00	
64	542A0229	PIPE CULVERTS, CLASS A, TYPE 1 24"	62.0	FOOT	\$200.00	\$12,400.00	\$206.50	\$12,803.00	\$281.00	\$17,422.00	
65	542D0217	PIPE CULVERTS, CLASS D, TYPE 1 12"	101.0	FOOT	\$130.00	\$13,130.00	\$158.00	\$15,958.00	\$140.00	\$14,140.00	
66	542D0220	PIPE CULVERTS, CLASS D, TYPE 1 15"	328.0	FOOT	\$150.00	\$49,200.00	\$158.00	\$51,824.00	\$144.00	\$47,232.00	
67	550A0050	STORM SEWERS, CLASS A, TYPE 1 12"	146.0	FOOT	\$200.00	\$29,200.00	\$71.30	\$10,409.80	\$95.00	\$13,870.00	
68	550A0070	STORM SEWERS, CLASS A, TYPE 1 15"	678.0	FOOT	\$200.00	\$135,600.00	\$85.60	\$58,036.80	\$99.00	\$67,122.00	
69	55100200	STORM SEWER REMOVAL 6"	121.0	FOOT	\$40.00	\$4,840.00	\$20.00	\$2,420.00	\$25.00	\$3,025.00	
70	55100700	STORM SEWER REMOVAL 15"	88.0	FOOT	\$50.00	\$4,400.00	\$29.00	\$2,552.00	\$32.00	\$2,816.00	
71	60108104	PIPE UNDERDRAINS, TYPE 1, 4"	571.0	FOOT	\$50.00	\$28,550.00	\$5.15	\$2,940.65	\$35.00	\$19,985.00	
72	60208240	CATCH BASINS, TYPE C, TYPE 24 FRAME AND GRATE	2.0	EACH	\$3,000.00	\$6,000.00	\$3,097.00	\$6,194.00	\$2,950.00	\$5,900.00	
73	60218400	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	4.0	EACH	\$4,000.00	\$16,000.00	\$4,790.00	\$19,160.00	\$5,750.00	\$23,000.00	
74	60250200	CATCH BASINS TO BE ADJUSTED	1.0	EACH	\$1,000.00	\$1,000.00	\$728.00	\$728.00	\$650.00	\$650.00	
75	60255500	MANHOLES TO BE ADJUSTED INLETS TO BE ADJUSTED	3.0	EACH	\$1,000.00	\$3,000.00	\$728.00	\$2,184.00	\$1,050.00	\$3,150.00	
76	60260100	VALVE BOXES TO BE ADJUSTED	2.0	EACH	\$1,000.00	\$2,000.00	\$728.00	\$1,456.00	\$1,050.00	\$2,100.00	
77	60266600	REMOVING CATCH BASINS	1.0	EACH	\$300.00	\$300.00	\$470.00	\$470.00	\$770.00	\$770.00	
78	60500050	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12	2.0	EACH	\$750.00	\$1,500.00	\$969.00	\$1,938.00	\$650.00	\$1,300.00	
79 80	60603800 60603900	COMBINATION CONCRETE CURB AND GUTTER, 11FE B-0.12 (ABUTTING EXISTING PAVEMENT)	116.0 125.0	FOOT	\$30.00 \$40.00	\$3,480.00 \$5,000.00	\$52.35 \$52.35	\$6,072.60 \$6,543.75	\$48.00 \$52.00	\$5,568.00 \$6,500.00	
81	60605900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24	691.0	FOOT	\$40.00	\$27,640.00	\$64.25	\$44,396.75	\$52.00	\$41,460.00	
82	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	125.0	FOOT	\$50.00	\$6,250.00	\$64.25	\$8,031.25	\$65.00	\$8,125.00	
83	6300001	STEEL PLATE BEAM GUARDRAIL, TYPE A, 6 FOOT POSTS	488.0	FOOT	\$40.00	\$19,520.00	\$45.41	\$22,160.08	\$45.41	\$22,160.08	
84	63000370	LONG-SPAN GUARDRAIL OVER CULVERT, 25 FT SPAN	150.0	FOOT	\$42.00	\$6,300.00	\$48.27	\$7,240.50	\$48.27	\$7,240.50	
85	63100045	TRAFFIC BARRIER TERMINAL, TYPE 2	3.0	EACH	\$1,500.00	\$4,500.00	\$1,783.00	\$5,349.00	\$1,783.00	\$5,349.00	
86	63100167	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	3.0	EACH	\$4,000.00	\$12,000.00	\$4,518.00	\$13,554.00	\$4,518.00	\$13,554.00	
87	63200310	GUARDRAIL REMOVAL	885.0	FOOT	\$10.00	\$8,850.00	\$9.08	\$8,035.80	\$9.08	\$8,035.80	
88	64200108	SHOULDER RUMBLE STRIPS, 8 INCH	16,760.0	FOOT	\$0.75	\$12,570.00	\$0.97	\$16,257.20	\$0.35	\$5,866.00	
89	67100100	MOBILIZATION	1.0	L SUM	\$250,000.00	\$250,000.00	\$416,000.00	\$416,000.00	\$565,357.54	\$565,357.54	
90	70300100	SHORT TERM PAVEMENT MARKING TEMPORARY PAVEMENT MARKING LETTERS AND SYMBOLS - TYPE IV	20,810.0	FOOT	\$1.00	\$20,810.00	\$0.65	\$13,526.50	\$0.75	\$15,607.50	
91	70307100	TAPE	109.0	SQ FT	\$5.00	\$545.00	\$3.60	\$392.40	\$4.50	\$490.50	
92	70307120	TEMPORARY PAVEMENT MARKING - LINE 4" - TYPE IV TAPE	9,010.0	FOOT	\$1.50	\$13,515.00	\$1.20	\$10,812.00	\$1.35	\$12,163.50	
93	70307130	TEMPORARY PAVEMENT MARKING - LINE 6" - TYPE IV TAPE	10,015.0	FOOT	\$2.00	\$20,030.00	\$1.60	\$16,024.00	\$1.90	\$19,028.50	
94	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	801.0	SQ FT	\$7.00	\$5,607.00	\$6.00	\$4,806.00	\$6.00	\$4,806.00	
95	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	33,040.0	FOOT	\$1.00	\$33,040.00	\$0.76	\$25,110.40	\$0.76	\$25,110.40	
96	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	36,539.0	FOOT	\$1.50	\$54,808.50	\$0.95	\$34,712.05	\$0.95	\$34,712.05	
97	78000500	THERMOPLASTIC PAVEMENT MARKING - LINE 8"	506.0	FOOT	\$1.75	\$885.50	\$1.60	\$809.60	\$1.60	\$809.60	
98	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	1,906.0	FOOT	\$2.50	\$4,765.00	\$2.75	\$5,241.50	\$2.75	\$5,241.50	
99	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24" GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND	103.0	FOOT	\$8.00	\$824.00	\$6.00	\$618.00	\$6.00	\$618.00	
100	78011000	SYMBOLS	801.0	SQ FT	\$3.00	\$2,403.00	\$2.72	\$2,178.72	\$2.72	\$2,178.72	
101	78011025	GROOVING FOR RECESSED PAVEMENT MARKING 5"	33,040.0	FOOT	\$0.50	\$16,520.00	\$0.36	\$11,894.40	\$0.36	\$11,894.40	
102	78011035	GROOVING FOR RECESSED PAVEMENT MARKING 7"	36,539.0	FOOT	\$1.00	\$36,539.00	\$0.47	\$17,173.33	\$0.47	\$17,173.33	
103	78011045	GROOVING FOR RECESSED PAVEMENT MARKING 9"	506.0	FOOT	\$2.00	\$1,012.00	\$0.70	\$354.20	\$0.70	\$354.20	
104	78011065	GROOVING FOR RECESSED PAVEMENT MARKING 13"	1,906.0	FOOT	\$2.50	\$4,765.00	\$1.23	\$2,344.38	\$1.23	\$2,344.38	
105	78011125	GROOVING FOR RECESSED PAVEMENT MARKING 25"	103.0	FOOT	\$4.00	\$412.00	\$2.72	\$280.16	\$2.72	\$280.16	

Item No.	Pay Code	Description	Quantity	Unit	Eng Ur	nit Price	Price Peter Baker & Son Company		Builders	Paving, LLC	
	-				Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	
106	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	42.0	EACH	\$24.00	\$1,008.00	\$15.00	\$630.00	\$20.00	\$840.00	
107	78300202	PAVEMENT MARKING REMOVAL - WATER BLASTING	2,701.0	SQ FT	\$2.00	\$5,402.00	\$3.00	\$8,103.00	\$1.65	\$4,456.65	
108	LC200051	REJECTED LOAD TRANSPORTATION	5.0	LOAD	\$200.00	\$1,000.00	\$145.00	\$725.00	\$225.00	\$1,125.00	
109	LC200052	EXCAVATING EXISTING SHOULDER	292.0	UNIT	\$250.00	\$73,000.00	\$405.00	\$118,260.00	\$675.00	\$197,100.00	
110	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	63,919.0	UNIT	\$1.00	\$63,919.00	\$1.00	\$63,919.00	\$1.00	\$63,919.00	
111	LC400100	BUTT JOINT FOR ENTRANCE RESURFACING	156.0	FOOT	\$10.00	\$1,560.00	\$1.00	\$156.00	\$35.00	\$5,460.00	
112	LC400212	PAVEMENT REPLACEMENT HMA WITH RESURFACING	226.0	SQ YD	\$100.00	\$22,600.00	\$145.15	\$32,803.90	\$150.00	\$33,900.00	
113	LC500230	GRATING FOR CONCRETE FLARED END SECTION 24"	7.0	EACH	\$500.00	\$3,500.00	\$910.00	\$6,370.00	\$2,750.00	\$19,250.00	
114	LC501005	CLEAN AND TELEVISE STORM SEWER 24"	235.0	FOOT	\$15.00	\$3,525.00	\$20.00	\$4,700.00	\$20.00	\$4,700.00	
115	LC600200	INSTALL SURVEY MONUMENTS	14.0	EACH	\$2,100.00	\$29,400.00	\$475.00	\$6,650.00	\$1,750.00	\$24,500.00	
116	LC600204	FENCE TO BE REMOVED AND REPLACED	407.0	FOOT	\$100.00	\$40,700.00	\$47.21	\$19,214.47	\$47.21	\$19,214.47	
117	LC782000	GUARDRAIL REFLECTORS	34.0	EACH	\$15.00	\$510.00	\$12.00	\$408.00	\$12.00	\$408.00	
118	X0326898	CENTER LINE - RUMBLE STRIP - 16"	3,621.0	FOOT	\$1.00	\$3,621.00	\$2.25	\$8,147.25	\$0.56	\$2,027.76	
119	X2010400	STUMP REMOVAL ONLY	14.0	UNIT	\$100.00	\$1,400.00	\$8.00	\$112.00	\$8.00	\$112.00	
120	X2070302	POROUS GRANULAR EMBANKMENT (SPECIAL)	449.0	TON	\$50.00	\$22,450.00	\$41.95	\$18,835.55	\$74.00	\$33,226.00	
121	X2511630	EROSION CONTROL BLANKET (SPECIAL)	752.0	SQ YD	\$5.00	\$3,760.00	\$2.00	\$1,504.00	\$2.00	\$1,504.00	
122	X2800500	INLET PROTECTION (SPECIAL)	23.0	EACH	\$200.00	\$4,600.00	\$125.00	\$2,875.00	\$225.00	\$5,175.00	
123	X4021000	TEMPORARY ACCESS (PRIVATE ENTRANCE)	24.0	EACH	\$400.00	\$9,600.00	\$430.00	\$10,320.00	\$1,200.00	\$28,800.00	
124	X4022000	TEMPORARY ACCESS (COMMERCIAL ENTRANCE)	12.0	EACH	\$400.00	\$4,800.00	\$615.00	\$7,380.00	\$2,000.00	\$24,000.00	
125	X4060995	TEMPORARY RAMP (SPECIAL)	262.0	SQ YD	\$50.00	\$13,100.00	\$18.00	\$4,716.00	\$26.00	\$6,812.00	
126	X5021507	DEWATERING	1.0	L SUM	\$25,000.00	\$25,000.00	\$500.00	\$500.00	\$4,400.00	\$4,400.00	
127	X5430224	CURED-IN-PLACE PIPE LINER, 24"	429.0	FOOT	\$200.00	\$85,800.00	\$362.00	\$155,298.00	\$380.00	\$163,020.00	
128	X6026050	SANITARY MANHOLES TO BE ADJUSTED	4.0	EACH	\$1,500.00	\$6,000.00	\$1,500.00	\$6,000.00	\$1,695.00	\$6,780.00	
129	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	12.0	CAL MO	\$3,000.00	\$36,000.00	\$1,000.00	\$12,000.00	\$3,000.00	\$36,000.00	
130	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$100,000.00	\$100,000.00	\$43,600.00	\$43,600.00	\$100,000.00	\$100,000.00	
131	X7010237	CHANGEABLE MESSAGE SIGN (SPECIAL)	360.0	CAL DA	\$50.00	\$18,000.00	\$40.00	\$14,400.00	\$35.00	\$12,600.00	
132	X7800815	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 4 INCH	7,222.0	FOOT	\$0.40	\$2,888.80	\$0.81	\$5,849.82	\$0.81	\$5,849.82	
133	X7810300	RECESSED REFLECTIVE PAVEMENT MARKER	62.0	EACH	\$100.00	\$6,200.00	\$85.00	\$5,270.00	\$85.00	\$5,270.00	
134	X8860105	DETECTOR LOOP REPLACEMENT	312.0	FOOT	\$20.00	\$6,240.00	\$48.80	\$15,225.60	\$34.27	\$10,692.24	
135	XX000856	MAILBOX REMOVAL AND RELOCATION	41.0	EACH	\$300.00	\$12,300.00	\$375.00	\$15,375.00	\$500.00	\$20,500.00	
136	XX006729	PERIMETER EROSION BARRIER, ROLLED EXCELSIOR	10,860.0	FOOT	\$5.00	\$54,300.00	\$5.00	\$54,300.00	\$5.00	\$54,300.00	
137	XX008865	PERMEABLE PLASTIC BERM	742.0	FOOT	\$12.00	\$8,904.00	\$12.00	\$8,904.00	\$12.00	\$8,904.00	
138	XX009142	PAVEMENT MARKING REMOVAL (SPECIAL)	8,090.0	SQ FT	\$2.00	\$16,180.00	\$1.00	\$8,090.00	\$0.50	\$4,045.00	
139	XX009515	STORM SEWERS, CLASS B, TYPE 1 6"	5.0	FOOT	\$120.00	\$600.00	\$359.20	\$1,796.00	\$300.00	\$1,500.00	
140	Z0013798	CONSTRUCTION LAYOUT	1.0	L SUM	\$25,000.00	\$25,000.00	\$21,500.00	\$21,500.00	\$75,000.00	\$75,000.00	
141	Z0062456	TEMPORARY PAVEMENT	344.0	SQ YD	\$65.00	\$22,360.00	\$95.05	\$32,697.20	\$77.00	\$26,488.00	
					Total	\$4,877,647.80		\$4,261,174.83		\$5,113,808.00	



Return Bid Details

Old McHenry Road Resurfacing Project:

23-00999-95-RS Section:

CPMS Pin: B-01673 Let Date: March 11, 2025

Description:

The intersection of Old McHenry Road at Corporate Drive will be expanded; Old McHenry Road will be resurfaced and widened with full depth HMA binder. This work will also include combination concrete curb and gutter, pipe culverts, heavy cleaning of existing culverts, culvert lining, and all necessary restoration. Old McHenry Road will be resurfaced with reconstructed HMA shoulders, aggregate shoulders, ditch grading, rumble strip installation, and all necessary

restoration.

Item No.	Pay Code	Description	Quantity	Unit	Eng Unit Price		Min. Bid Price Max. Bid Price	Max. Bid Price	Avg. Bid Price
					Unit Price	Extnd. Price			
1	20101100	TREE TRUNK PROTECTION	38.0	EACH	\$125.00	\$4,750.00	\$125.00	\$125.00	\$125.00
2	20101200	TREE ROOT PRUNING	38.0	EACH	\$100.00	\$3,800.00	\$90.00	\$90.00	\$90.00
3	20101300	TREE PRUNING (1 TO 10 INCH DIAMETER)	18.0	EACH	\$60.00	\$1,080.00	\$70.00	\$70.00	\$70.00
4	20101350	TREE PRUNING (OVER 10 INCH DIAMETER)	20.0	EACH	\$100.00	\$2,000.00	\$200.00	\$200.00	\$200.00
5	20200100	EARTH EXCAVATION	1839.0	CU YD	\$44.00	\$80,916.00	\$53.00	\$85.00	\$69.00
6	20201200	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	3586.0	CU YD	\$44.00	\$157,784.00	\$0.01	\$53.00	\$26.50
7	20400800	FURNISHED EXCAVATION	690.0	CU YD	\$50.00	\$34,500.00	\$0.01	\$40.00	\$20.00
8	20800150	TRENCH BACKFILL	400.0	CU YD	\$60.00	\$24,000.00	\$50.00	\$99.00	\$74.50
9	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	2882.0	SQ YD	\$3.00	\$8,646.00	\$3.00	\$3.60	\$3.30
10	21101600	TOPSOIL FURNISH AND PLACE, VARIABLE DEPTH	7788.0	SQ YD	\$6.00	\$46,728.00	\$4.00	\$4.00	\$4.00
11	21101615	TOPSOIL FURNISH AND PLACE, 4" EXPLORATION TRENCH 52" DEPTH	11614.0	SQ YD	\$5.00	\$58,070.00	\$4.00	\$4.00	\$4.00
12	21301052		100.0	FOOT	\$50.00	\$5,000.00	\$5.00	\$98.00	\$51.50
13	25000210	SEEDING, CLASS 2A SEEDING, CLASS 3	2.8	ACRE	\$2,650.00	\$7,287.50	\$3,630.00	\$3,630.00	\$3,630.00
14 15	25000300 25000314	SEEDING, CLASS 3 SEEDING, CLASS 4B	1.5 0.3	ACRE ACRE	\$4,000.00 \$4,500.00	\$6,000.00 \$1,125.00	\$3,630.00 \$3,630.00	\$3,630.00	\$3,630.00 \$3,630.00
16	25000314	NITROGEN FERTILIZER NUTRIENT	405.0	POUND	\$4,500.00	\$1,125.00	\$3,630.00	\$3,630.00 \$1.00	\$3,630.00 \$1.00
17	25000400	POTASSIUM FERTILIZER NUTRIENT	405.0	POUND	\$3.00	\$1,215.00	\$1.00	\$1.00	\$1.00
18	25100630	EROSION CONTROL BLANKET	18651.0	SQ YD	\$2.00	\$37,302.00	\$1.10	\$1.10	\$1.00
19	28000250	TEMPORARY EROSION CONTROL SEEDING	401.0	POUND	\$5.00	\$2,005.00	\$0.10	\$0.10	\$0.10
20	28000305	TEMPORARY DITCH CHECKS	742.0	FOOT	\$10.00	\$7,420.00	\$12.00	\$12.00	\$12.00
21	28000400	PERIMETER EROSION BARRIER	300.0	FOOT	\$5.00	\$1,500.00	\$5.00	\$5.00	\$5.00
22	28000510	INLET FILTERS	11.0	EACH	\$150.00	\$1,650.00	\$275.00	\$300.00	\$287.50
23	28100107	STONE RIPRAP, CLASS A4	107.0	SQ YD	\$200.00	\$21,400.00	\$150.00	\$181.50	\$165.75
24	28200200	FILTER FABRIC	221.0	SQ YD	\$3.50	\$773.50	\$3.00	\$5.00	\$4.00
25	30300112	AGGREGATE SUBGRADE IMPROVEMENT 12"	2317.0	SQ YD	\$25.00	\$57,925.00	\$38.50	\$40.00	\$39.25
26	35101800	AGGREGATE BASE COURSE, TYPE B 6"	1185.0	SQ YD	\$15.00	\$17,775.00	\$9.90	\$22.00	\$15.95
27	35102000	AGGREGATE BASE COURSE, TYPE B 8"	500.0	SQ YD	\$15.00	\$7,500.00	\$13.20	\$20.00	\$16.60
28	35501314	HOT-MIX ASPHALT BASE COURSE, 7 1/2"	1827.0	SQ YD	\$40.00	\$73,080.00	\$43.00	\$46.00	\$44.50
29	40600275	BITUMINOUS MATERIALS (PRIME COAT)	1468.0	POUND	\$1.00	\$1,468.00	\$0.01	\$0.90	\$0.46
30	40600290	BITUMINOUS MATERIALS (TACK COAT)	44986.0	POUND	\$1.00	\$44,986.00	\$0.01	\$0.01	\$0.01
31	40600370	LONGITUDINAL JOINT SEALANT	57893.0	FOOT	\$3.00	\$173,679.00	\$2.80	\$3.29	\$3.04
32	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	10.0	TON	\$500.00	\$5,000.00	\$75.00	\$650.00	\$362.50
33	40603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	3033.0	TON	\$120.00	\$363,960.00	\$85.00	\$103.00	\$94.00
34	40604060	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	2820.0	TON	\$100.00	\$282,000.00	\$83.00	\$91.00	\$87.00
35	40604062	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N70	4505.0	TON	\$100.00	\$450,500.00	\$78.00	\$82.00	\$80.00
36	42001300	PROTECTIVE COAT	257.0	SQ YD	\$5.00	\$1,285.00	\$1.40	\$10.00	\$5.70
37	44000100	PAVEMENT REMOVAL	987.0	SQ YD	\$20.00	\$19,740.00	\$24.00	\$31.90	\$27.95
38	44000155	HOT-MIX ASPHALT SURFACE REMOVAL, 1 1/2"	621.0	SQ YD	\$10.00	\$6,210.00	\$8.40	\$10.65	\$9.52
39	44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	56766.0	SQ YD	\$4.00	\$227,064.00	\$3.40	\$4.09	\$3.74
40	44000200	DRIVEWAY PAVEMENT REMOVAL	1746.0	SQ YD	\$20.00	\$34,920.00	\$12.75	\$15.00	\$13.88
41	44000500	COMBINATION CURB AND GUTTER REMOVAL	460.0	FOOT	\$15.00	\$6,900.00	\$8.00	\$11.25	\$9.62
42	44201749	CLASS D PATCHES, TYPE I, 9 INCH	8.0	SQ YD	\$70.00	\$560.00	\$35.00	\$150.00	\$92.50
43	44201753	CLASS D PATCHES, TYPE II, 9 INCH	12.0	SQ YD	\$80.00	\$960.00	\$35.00	\$130.00	\$82.50
44	44201757	CLASS D PATCHES, TYPE III, 9 INCH	36.0	SQ YD	\$90.00	\$3,240.00	\$35.00	\$115.00	\$75.00
45	44201759	CLASS D PATCHES, TYPE IV, 9 INCH	24.0	SQ YD	\$100.00	\$2,400.00	\$35.00	\$97.00	\$66.00

Item No.	Pay Code	Description	Quantity	Unit	Eng Unit Price		Min. Bid Price Max. Bid Price	Max. Bid Price	Avg. Bid Price
1.0	,				Unit Price	Extnd. Price			g
46	44201798	CLASS D PATCHES, TYPE I, 13 INCH	212.0	SQ YD	\$100.00	\$21,200.00	\$40.00	\$152.00	\$96.00
47	44201803	CLASS D PATCHES, TYPE II, 13 INCH	318.0	SQ YD	\$110.00	\$34,980.00	\$40.00	\$149.00	\$94.50
48	44201807	CLASS D PATCHES, TYPE III, 13 INCH	954.0	SQ YD	\$120.00	\$114,480.00	\$40.00	\$131.00	\$85.50
49	44201809	CLASS D PATCHES, TYPE IV, 13 INCH	636.0	SQ YD	\$130.00	\$82,680.00	\$40.00	\$119.00	\$79.50
50	44201895	CLASS D PATCHES, TYPE I, 21 INCH	64.0	SQ YD	\$160.00	\$10,240.00	\$50.00	\$262.00	\$156.00
51	44201899	CLASS D PATCHES, TYPE II, 21 INCH	97.0	SQ YD	\$170.00	\$16,490.00	\$50.00	\$238.00	\$144.00
52	44201903	CLASS D PATCHES, TYPE III, 21 INCH	290.0	SQ YD	\$180.00	\$52,200.00	\$50.00	\$224.00	\$137.00
53	44201905	CLASS D PATCHES, TYPE IV, 21 INCH	193.0	SQ YD	\$190.00	\$36,670.00	\$50.00	\$205.00	\$127.50
54	48101200	AGGREGATE SHOULDERS, TYPE B	1639.0	TON	\$50.00	\$81,950.00	\$37.00	\$59.00	\$48.00
55	48203015	HOT-MIX ASPHALT SHOULDERS, 4 1/2"	16464.0	SQ YD	\$25.00	\$411,600.00	\$21.40	\$22.00	\$21.70
56	50105220	PIPE CULVERT REMOVAL	1084.0	FOOT	\$25.00	\$27,100.00	\$18.00	\$27.00	\$22.50
57	54213657	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 12"	4.0	EACH	\$1,250.00	\$5,000.00	\$2,079.00	\$2,800.00	\$2,439.50
58	54213660	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 15"	11.0	EACH	\$1,500.00	\$16,500.00	\$2,132.00	\$2,950.00	\$2,541.00
59	54213669	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 24"	7.0	EACH	\$2,300.00	\$16,100.00	\$4,492.00	\$7,150.00	\$5,821.00
60	54262712	METAL FLARED END SECTIONS 12"	8.0	EACH	\$800.00	\$6,400.00	\$250.00	\$855.00	\$552.50
61	54262715	METAL FLARED END SECTIONS 15"	16.0	EACH	\$750.00	\$12,000.00	\$291.00	\$915.00	\$603.00
62	542A0217	PIPE CULVERTS, CLASS A, TYPE 1 12"	72.0	FOOT	\$80.00	\$5,760.00	\$102.50	\$135.00	\$118.75
63	542A0220	PIPE CULVERTS, CLASS A, TYPE 1 15"	156.0	FOOT	\$90.00	\$14,040.00	\$113.20	\$138.00	\$125.60
64	542A0229	PIPE CULVERTS, CLASS A, TYPE 1 24"	62.0	FOOT	\$200.00	\$12,400.00	\$206.50	\$281.00	\$243.75
65	542D0217	PIPE CULVERTS, CLASS D, TYPE 1 12"	101.0	FOOT	\$130.00	\$13,130.00	\$140.00	\$158.00	\$149.00
66	542D0220	PIPE CULVERTS, CLASS D, TYPE 1 15"	328.0	FOOT	\$150.00	\$49,200.00	\$144.00	\$158.00	\$151.00
67	550A0050	STORM SEWERS, CLASS A, TYPE 1 12"	146.0	FOOT	\$200.00	\$29,200.00	\$71.30	\$95.00	\$83.15
68	550A0070	STORM SEWERS, CLASS A, TYPE 1 15"	678.0	FOOT	\$200.00	\$135,600.00	\$85.60	\$99.00	\$92.30
69	55100200	STORM SEWER REMOVAL 6"	121.0	FOOT	\$40.00	\$4,840.00	\$20.00	\$25.00	\$22.50
70	55100700	STORM SEWER REMOVAL 15"	88.0	FOOT	\$50.00	\$4,400.00	\$29.00	\$32.00	\$30.50
71	60108104	PIPE UNDERDRAINS, TYPE 1, 4"	571.0	FOOT	\$50.00	\$28,550.00	\$5.15	\$35.00	\$20.08
72	60208240	CATCH BASINS, TYPE C, TYPE 24 FRAME AND GRATE	2.0	EACH	\$3,000.00	\$6,000.00	\$2,950.00	\$3,097.00	\$3,023.50
73	60218400	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	4.0	EACH	\$4,000.00	\$16,000.00	\$4,790.00	\$5,750.00	\$5,270.00
74	60250200	CATCH BASINS TO BE ADJUSTED	1.0	EACH	\$1,000.00	\$1,000.00	\$650.00	\$728.00	\$689.00
75	60255500	MANHOLES TO BE ADJUSTED	3.0	EACH	\$1,000.00	\$3,000.00	\$728.00	\$1,050.00	\$889.00
76	60260100	INLETS TO BE ADJUSTED	2.0	EACH	\$1,000.00	\$2,000.00	\$728.00	\$1,050.00	\$889.00
77	60266600	VALVE BOXES TO BE ADJUSTED	1.0	EACH	\$300.00	\$300.00	\$470.00	\$770.00	\$620.00
78	60500050	REMOVING CATCH BASINS	2.0	EACH	\$750.00	\$1,500.00	\$650.00	\$969.00	\$809.50
79	60603800	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12	116.0	FOOT	\$30.00	\$3,480.00	\$48.00	\$52.35	\$50.18
10	0000000	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12	110.0	1001	ψου.σο	ψο, 400.00	ψ-10.00	Ψ02.00	ψου.10
80	60603900	(ABUTTING EXISTING PAVEMENT)	125.0	FOOT	\$40.00	\$5,000.00	\$52.00	\$52.35	\$52.18
81	60605000	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24	691.0	FOOT	\$40.00	\$27,640.00	\$60.00	\$64.25	\$62.12
		COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24							
82	60605100	(ABUTTING EXISTING PAVEMENT)	125.0	FOOT	\$50.00	\$6,250.00	\$64.25	\$65.00	\$64.62
83	63000001	STEEL PLATE BEAM GUARDRAIL, TYPE A, 6 FOOT POSTS	488.0	FOOT	\$40.00	\$19,520.00	\$45.41	\$45.41	\$45.41
84	63000370	LONG-SPAN GUARDRAIL OVER CULVERT, 25 FT SPAN	150.0	FOOT	\$42.00	\$6,300.00	\$48.27	\$48.27	\$48.27
85	63100045	TRAFFIC BARRIER TERMINAL, TYPE 2	3.0	EACH	\$1,500.00	\$4,500.00	\$1,783.00	\$1,783.00	\$1,783.00
86	63100167	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	3.0	EACH	\$4,000.00	\$12,000.00	\$4,518.00	\$4,518.00	\$4,518.00
87	63200310	GUARDRAIL REMOVAL	885.0	FOOT	\$10.00	\$8,850.00	\$9.08	\$9.08	\$9.08
88	64200108	SHOULDER RUMBLE STRIPS, 8 INCH	16760.0	FOOT	\$0.75	\$12,570.00	\$0.35	\$0.97	\$0.66
89	67100100	MOBILIZATION	1.0	L SUM	\$250,000.00	\$250,000.00	\$416,000.00	\$565,357.54	\$490,678.77
90	70300100	SHORT TERM PAVEMENT MARKING TEMPORARY PAVEMENT MARKING LETTERS AND SYMBOLS - TYPE IV	20810.0	FOOT	\$1.00	\$20,810.00	\$0.65	\$0.75	\$0.70
91	70307100	TAPE	109.0	SQ FT	\$5.00	\$545.00	\$3.60	\$4.50	\$4.05
92	70307120	TEMPORARY PAVEMENT MARKING - LINE 4" - TYPE IV TAPE	9010.0	FOOT	\$1.50	\$13,515.00	\$1.20	\$1.35	\$1.28
93	70307130	TEMPORARY PAVEMENT MARKING - LINE 6" - TYPE IV TAPE	10015.0	FOOT	\$2.00	\$20,030.00	\$1.60	\$1.90	\$1.75
94	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	801.0	SQ FT	\$7.00	\$5,607.00	\$6.00	\$6.00	\$6.00
95	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	33040.0	FOOT	\$1.00	\$33,040.00	\$0.76	\$0.76	\$0.76
96	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	36539.0	FOOT	\$1.50	\$54,808.50	\$0.95	\$0.95	\$0.95
97	78000500	THERMOPLASTIC PAVEMENT MARKING - LINE 8"	506.0	FOOT	\$1.75	\$885.50	\$1.60	\$1.60	\$1.60
98	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	1906.0	FOOT	\$2.50	\$4,765.00	\$2.75	\$2.75	\$2.75
99	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	103.0	FOOT	\$8.00	\$824.00	\$6.00	\$6.00	\$6.00

101 102 103 104 105 106	78011000 78011025 78011035 78011045 78011065 78011125	GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS GROOVING FOR RECESSED PAVEMENT MARKING 5" GROOVING FOR RECESSED PAVEMENT MARKING 7"	801.0 33040.0	SQ FT	Unit Price	Extnd. Price			
101 102 103 104 105 106 107	78011025 78011035 78011045 78011065 78011125	SYMBOLS GROOVING FOR RECESSED PAVEMENT MARKING 5"		SO FT					
101 102 103 104 105 106 107	78011025 78011035 78011045 78011065 78011125	GROOVING FOR RECESSED PAVEMENT MARKING 5"		SO ET					
102 103 104 105 106 107	78011035 78011045 78011065 78011125		33040 0		\$3.00	\$2,403.00	\$2.72	\$2.72	\$2.72
103 104 105 106 107	78011045 78011065 78011125	GROOVING FOR RECESSED PAVEMENT MARKING 7"	000+0.0	FOOT	\$0.50	\$16,520.00	\$0.36	\$0.36	\$0.36
104 105 106 107	78011065 78011125		36539.0	FOOT	\$1.00	\$36,539.00	\$0.47	\$0.47	\$0.47
105 106 107	78011125	GROOVING FOR RECESSED PAVEMENT MARKING 9"	506.0	FOOT	\$2.00	\$1,012.00	\$0.70	\$0.70	\$0.70
106 107		GROOVING FOR RECESSED PAVEMENT MARKING 13"	1906.0	FOOT	\$2.50	\$4,765.00	\$1.23	\$1.23	\$1.23
107		GROOVING FOR RECESSED PAVEMENT MARKING 25"	103.0	FOOT	\$4.00	\$412.00	\$2.72	\$2.72	\$2.72
	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	42.0	EACH	\$24.00	\$1,008.00	\$15.00	\$20.00	\$17.5
108 i	78300202	PAVEMENT MARKING REMOVAL - WATER BLASTING	2701.0	SQ FT	\$2.00	\$5,402.00	\$1.65	\$3.00	\$2.3
	LC200051	REJECTED LOAD TRANSPORTATION	5.0	LOAD	\$200.00	\$1,000.00	\$145.00	\$225.00	\$185.0
109 I	LC200052	EXCAVATING EXISTING SHOULDER	292.0	UNIT	\$250.00	\$73,000.00	\$405.00	\$675.00	\$540.00
110 I	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	63919.0	UNIT	\$1.00	\$63,919.00	\$1.00	\$1.00	\$1.00
111 I	LC400100	BUTT JOINT FOR ENTRANCE RESURFACING	156.0	FOOT	\$10.00	\$1,560.00	\$1.00	\$35.00	\$18.00
112 I	LC400212	PAVEMENT REPLACEMENT HMA WITH RESURFACING	226.0	SQ YD	\$100.00	\$22,600.00	\$145.15	\$150.00	\$147.5
113 I	LC500230	GRATING FOR CONCRETE FLARED END SECTION 24"	7.0	EACH	\$500.00	\$3,500.00	\$910.00	\$2,750.00	\$1,830.00
114 I	LC501005	CLEAN AND TELEVISE STORM SEWER 24"	235.0	FOOT	\$15.00	\$3,525.00	\$20.00	\$20.00	\$20.00
115 I	LC600200	INSTALL SURVEY MONUMENTS	14.0	EACH	\$2,100.00	\$29,400.00	\$475.00	\$1,750.00	\$1,112.50
116 I	LC600204	FENCE TO BE REMOVED AND REPLACED	407.0	FOOT	\$100.00	\$40,700.00	\$47.21	\$47.21	\$47.21
117 I	LC782000	GUARDRAIL REFLECTORS	34.0	EACH	\$15.00	\$510.00	\$12.00	\$12.00	\$12.00
	X0326898	CENTER LINE - RUMBLE STRIP - 16"	3621.0	FOOT	\$1.00	\$3,621.00	\$0.56	\$2.25	\$1.40
	X2010400	STUMP REMOVAL ONLY	14.0	UNIT	\$100.00	\$1,400.00	\$8.00	\$8.00	\$8.00
	X2070302	POROUS GRANULAR EMBANKMENT (SPECIAL)	449.0	TON	\$50.00	\$22,450.00	\$41.95	\$74.00	\$57.98
	X2511630	EROSION CONTROL BLANKET (SPECIAL)	752.0	SQ YD	\$5.00	\$3,760.00	\$2.00	\$2.00	\$2.00
	X2800500	INLET PROTECTION (SPECIAL)	23.0	EACH	\$200.00	\$4,600.00	\$125.00	\$225.00	\$175.00
	X4021000	TEMPORARY ACCESS (PRIVATE ENTRANCE)	24.0	EACH	\$400.00	\$9,600.00	\$430.00	\$1,200.00	\$815.00
	X4022000	TEMPORARY ACCESS (COMMERCIAL ENTRANCE)	12.0	EACH	\$400.00	\$4,800.00	\$615.00	\$2,000.00	\$1,307.50
	X4060995	TEMPORARY RAMP (SPECIAL)	262.0	SQ YD	\$50.00	\$13,100.00	\$18.00	\$26.00	\$22.00
	X5021507	DEWATERING	1.0	L SUM	\$25,000.00	\$25,000.00	\$500.00	\$4,400.00	\$2,450.00
	X5430224	CURED-IN-PLACE PIPE LINER, 24"	429.0	FOOT	\$200.00	\$85,800.00	\$362.00	\$380.00	\$371.00
	X6026050	SANITARY MANHOLES TO BE ADJUSTED	4.0	EACH	\$1,500.00	\$6,000.00	\$1,500.00	\$1,695.00	\$1,597.50
	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	12.0	CAL MO	\$3,000.00	\$36,000.00	\$1,000.00	\$3,000.00	\$2,000.00
	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$100,000.00	\$100,000.00	\$43,600.00	\$100,000.00	\$71,800.00
	X7010210 X7010237	CHANGEABLE MESSAGE SIGN (SPECIAL)	360.0	CAL DA	\$100,000.00	\$18,000.00	\$35.00	\$40.00	\$37.50
131	X/01023/	CHANGLABLE MESSAGE SIGN (SPECIAL)	300.0	CAL DA	\$50.00	\$10,000.00		\$40.00	φ37.30
132	X7800815	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 4 INCH	7222.0	FOOT	\$0.40	\$2,888.80	\$0.81	\$0.81	\$0.8
	X7810300	RECESSED REFLECTIVE PAVEMENT MARKER	62.0	EACH	\$100.00	\$6,200.00	\$85.00	\$85.00	\$85.00
	X8860105	DETECTOR LOOP REPLACEMENT	312.0	FOOT	\$20.00	\$6,240.00	\$34.27	\$48.80	\$41.54
	XX000856	MAILBOX REMOVAL AND RELOCATION	41.0	EACH	\$300.00	\$12,300.00	\$375.00	\$500.00	\$437.50
	XX006729	PERIMETER EROSION BARRIER, ROLLED EXCELSIOR	10860.0	FOOT	\$5.00	\$54,300.00	\$5.00	\$5.00	\$5.00
	XX008865	PERMEABLE PLASTIC BERM	742.0	FOOT	\$12.00	\$8,904.00	\$12.00	\$12.00	\$12.0
	XX009142	PAVEMENT MARKING REMOVAL (SPECIAL)	8090.0	SQ FT	\$2.00	\$16,180.00	\$0.50	\$1.00	\$0.7
	XX009515	STORM SEWERS, CLASS B, TYPE 1 6"	5.0	FOOT	\$120.00	\$600.00	\$300.00	\$359.20	\$329.6
	Z0013798	CONSTRUCTION LAYOUT	1.0	L SUM	\$25,000.00	\$25,000.00	\$21,500.00	\$75,000.00	\$48,250.0
	Z0062456	TEMPORARY PAVEMENT	344.0	SQ YD	\$65.00	\$22,360.00	\$77.00	\$95.05	\$86.02